
2020}_E 7l=Et4q EAg!

q*l
Er. 8-497

4+€Eg ,2020. rL.

4 E rl:.J+^l +

! 4*ol*
rxl*xFltnl zl**4zle.Br xtltl=.I El4 *J4rlB zl=+"qel 20VoE

=r+ dzd6l= 2020€E *+jn+Bq e €5lF.J zl{ztJz17, r}9921

zl+(L.J+zlAl4), Tl4tsSC4*, +el*='gdzlf,, s_,rl "j +4+A

"Julzl*, +a.E.dzl+ s+4qql 45il ql+,\le-l5lel eleg Elzl q.

! +s4+
1. g+E+Hq B €+t9 zl*=rHzl*
C *+in+eq 4 'd++"J Zql4C zl74 ^J4rlS zl*?"1€ zl44

100,000a9 r{ul 100% A"q zJ.q6J Ogss 4lq dA+.
o *+i+eq "l €rlF"J zlHl4c zl79 4++t zl**9€ zl"J"l

609,15649 rNul 98.027o ,J.qEJ 12,05BAgs-e 4lq d4+.

2.,$$a.z'lzl?(:..J+"14141

3 .{fl t-zl zl * (L"J+zl Zl,J ) el "J 4 ^}B zl 
=+E 

g zl 
"d "4 6 2, 0 50d g

4El 68.95% ,J.q* 19,26649s_E_ 4q dA*.

s. 6+48+BzlE
c llzlssczl*9 ,[+gt zl€*eg9 zl"c9 2,667,6534? ']lul

36.7BVo zJE+ 1,686,6104+los 4lq da+.
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4. +eNqFEld4+
o +el+3*dzl*g c4^lB zl€*.1€ zl"Jg 1,465,0804*1 4Hl

53.3Vo zlq{+ 684,080a4e--e. 4lq d4i}.

5. .E^l 4 +4*ACulzlE
C 5^l "l +4+4"Julzl*9 "IF€F zl=?.49 zl'J"4 0,0S6,20549

4vl Bz.gZqo ZJE6J ZSz,gz,,J.fle-_e 4.|9 dzJ+.

6. +a$.d4+
o *zJs_dzl?9 ^J4rls zl€?99 zl'Jeq 300,00044 r{ul 33.337o

,J"q+ 200,0004€-e--E 4lq d4+.
O *4-Edzl*9 r[**F zl€*9€ zl44 1,429,834d9 r{ul 69.05%

,JEt 442,899,JA-e__=_ 4lq dA*.

! *4lzl.E
o 2020"d5 xl11il ++ia+Bq 9 u3=+5io3 zl*=Czl* S+4lqB4("J)

c 2020"d5 xil r rz1 .$=l$zlzlf; (r.Jgzl4l'J ) ++4q d4 (q])

C 2020C8 'll11il V+:li&tdzl+ ++41qtr4(ql)

C 2020'dE 4l11il $9*a*dzl+ ++4qdA(ql)
C 2020'ds 4l11ilsil 'i a4*,l4nlzf+ ++4qda(q])
O 2020€5 4l11il +At-d7l+ ++4qdA (q])

O 2020C8 A\L24 $aj{a-lzlf;$$fl9El z[=l €4s-7

€'J1
gg2
Bola
E l TJ

gg4
gg5

E.JO
golTErtr
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Eg1>
20208E rlll lil LJ=EFH+ g Eet=g TlEJEg 7l=

e(e!)E!

n rEgg
c -lteetEg

N i9 : 193, en3 5 d€4ee q+ql^1 +"JEl= +o4(qlrl; q+ "l qlE+eg+al+ 
^llel)

N xlE : !E40e q+e 
^l=51ts 

e"+(ql^l+ + qlE+= 
^llel)

C +SIIE

9l: d

2019LJ5.8J A€o4
(7|'t

2020LtrE tt4q 2020EEEJ
E€O+

(rf)=(7[)+({)+oJ(r+) 1l+(E+)
z7toEt

(et) = (t-t)-(E+)

21fl(A) 601,305 609,156 100,000 509,156 1,110,461

E3(B) 601,305 12,058 0 12,058 613,363

ErJ(B_A) 0 a597,098 a100,000 a497,098
^497,098

:i!
+ air

qt+ril+ 7t€ qttlE Ee qtto4 =7tOE Hl -!.

EJ 4I 709,156 12,0s8 a697,098

aE+ 600,000 i 0
^600,000

s'1d4t tEe 4e

u *= 0 0 0

qtq* fl+El+ 100,000 0 a 100,000 ? eql9-e ?6J ^tg+14

ollt+"J 9,156 12,0s8 2,902 otrl+gq Ee

C ry=I|E
---==_+ Eql^trl+ -.----.--.- 7t€ qttq E€ q$q 47tctE Hl ?

EJ 4I 709,156 12,058 L697,098

Hlt1l.8^tgHl 100,000 0
^100,000

_?3r+19.e oJt 
^lg+14

tzt.B^lgHl 0 0 0

qt q+ 609,156 12,0s8
^597,098

gBJq4 dEB AE
olll+"Jo{ Ee

7lE+al+
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n rugrfle
c 

^fg 
7l7J : 2020. 3. - 12.

o ^lgrllg 
: +:Lt--+^J

C ^lgLilt : tfl+ ?lE4 ^lg(-+8 4eF, Ezl zlfl)

o ^f 
g Hl : 100,0004?

n tr|E EB^ltt
> 7l++"J4q Ee
o TlEtsl4l{oJ+ : (e€) ofl - (71€) 500,000afl = a0o0,000dtl

- i*al+19 rllS 'j zlqTdzl g€EE gl:"J qlLfqHE 916l| oJHJElzl dE+ 
^+a

C qlq+fl+q+ : (e€) ofl - (71€) 100,0004fl = 
^100,0004fl- n-e.ql9-e. "J.:_t ^fg+lAql 

rf= qlq+B+El+ +"Jo+ do+ 4F#

O olzl+E : (Z€) 12.05848 - Vl?tl 9,1s54fl = 2,e024?
- olaf+E ql/J-"+ EE-ql q= olTf+"J E7d

> 7l+^l=44 Eu
C Hltzl.S^tgHl : (U€) Qfl - (714) 100,0004fl = ^100.0004fl

- ?e.+19-+. "J"J ^f?+laql 
rf= 

^fgHl 1o+ AFe

c qlq+ : (e€) 12,0584fl - ?14) 50e.1554fl = 45e7,0e8ilfl

- d"J+ +a "l olaf+"J ql8"+ ESql q= qlq+ Ed

r g91E
C 2o21LJ H+a+ "j gqt5"J €24^fg +tl
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<E91 2>

2020lj.F- Illt t rt AtEl=Il7l= etllEf E!3(9!)

n -ltEEg

c rtegtEg
?t: d

2019LJEEJ a€o4
(7ll

2020LJE gt4q 2()2()LJE.EJ

4€o{
(Et)=(71)+(et)+oJ(r+) alii(Et) =7toEt

(4) = (rt)1ct)

z1{(A) 11,139,747 420,795 638,226 a217,431 10,922,316

EA(B) 11,139,747 a)\ q)o 527,022
^'101,102

1 1,038,645

=rJ(B_A)
5,125

^111,204
116,329 116,329

x i9 : pg3, eni 5 dE4oe el+oll^J +"JEl= +o4(qlil+ al+ "f ql'++flBal+ 
^llel)x rlE : €E4oe 9+e ^l=El: e"+(ql^lB "l ql+3 rllel)

c +gltel

------.._+ E
qt+t4+ -----.-. 7t€ qttlq EU qt{lq z7loEl Hf a-

Er 4l 1,059,021 qq) qa)
^ 

106,079

tzt*El+ 202,000 202,000

qtq+fl+ct+ 638,226 527,022
^111,204

olzt+E 168,795 172,927 4,132

TlEt+E s0,000 50,993 993

o rygtr|el

------.-_ + +
qttt!t+-------..- 7l€ qltlo4 EZ ql{to4 z7tOE HI .8.

EJ 4I 1,059,021 952,942
^106,079

HlEzt€1lgHl 338,226 227,022
^111,204

tzt€^tgHl 300,000 300,000

qt q+ 420,795 425,920 5,125

-6-



n 
^lgrneo ^fgTlrJ 

i 2020. 1? - 12?-

o 
^fg 

Lt|t
- zfg^fg t^l7l-+q ql6J zte-^fgzlE "j ++af €g"Jezf+ qlq

- LoJ +z16|3 +.|.:I LoJ+z|^l€ "j L?ti1l alfl
- 80fl"J9 z|lgq zfBzl?E ?l:Lr 6f0lloJtill g HlgElH?l zlfl

r tr|et EBrug
> 7t++E4lq E€
- 

^l6j+zl7l+(loJ+zl4le) ^|gHl 
,Jo+ql q= qlq*?=.ql+ +E Ez

(Lt?l : dfl)

^tgB(tl+r.{q)
+EE 47toEt ^ts71? 44

4l 857,021 750,942
^105,O79

qlq+fl+El+
,AOl

^41
638,226 527,022

^111,204
atg4td 541,996 473,576

^68,420
rlgHl ,J.4

toJ+al4l€ 62,O50 19,266
^42,784 ^tgHl eo-4

erciloJ+zl4te 34,180 34,1 B0

q++olar+oJ

L4l 168,795 172,927 4,132

zlg4l€ 69,206 73,338 4,132 olal+"J 60-{

toJ+zl416 64,986 64,986

80lloJ+zl4le 34,603 34,603

_'t ol ,\ oI

^41
50,000 50,993 993

zfg4ld 50,000 50,000

loJ+zl4le 793 793 19Ll ^lgBl a 6J?!o+
.f olzl+oJ BJs

6t0lt?!+ltzl€ 200 200
l9LJ 

^l.gBl d tJllorr

"i olzt+E "Js
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> 7t+^t#4q E€
- 

^fsl+zl7lE(toJ+zl4l€) ^fgHl #o+(i_e.+-19 aFTl+ql rfE 
^lg =.Ef)

(t8l : d?)

^tgE(tt+r.ilq)
4+q z7lOE ^l*7!e. 44

4l 759,O21 652,942
^106,079

Hltzl€^lgHl

^41
338,226 227,O22

^111,204

zlg4le 241,996 173,57 6
^68,420 ^tgHl e"4

L?.!+zt4te 62,O50 19,266
^42,784 ^lgtsl 

,J"4

80t|oJ+zl4l€ 34,1 80 34,1 80

qt++

L4l 420,795 425,920 5,125

zls4l€ 321,206 ??E ??A 4,132 ql_4+0lzf+oJ Ee

LoJ+zl4l€ 64,986 65,779 79? 19LJ 
^tgbl fl;Jz!o_4

"f olll+"J "Jso{

arcfloJ+zl4le 34,603 34,803 200
191J.{tgHl flrJtlo{
"l olal+"J oJBo-q
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(Eg3)
20208E lllt t il E*z lg8gT |= et4=f SA (91)

N l|EEg
o rtegtgtt

N tB : dge eae 5 dE4oe E+Oll^l +"JElts +E(ql^l; fl+ "l qlE++fl;iq+ 
^Jlel)

N ^l€: dE4ee el+E rl=El: +s4(qlll; "l qlE++ 
^1lE)

C ryEtr|gl

9l: d

2019rds.EJ 
=€o4(7t)

2020LlE ea4q 2O2()LJE.OJ

4€q
(Et)=(7t)+(Et)+E(L+) zlj3(Et)

z7tOE
(et) = (Lt)-(Et)

7l€(A) 109,692,970 2,667,653 2,990,000 L322,347 109,370,623

EE(B) 109,692,970 1,686,61 0 2,570,000
^883,390

108,809,580

=a(B-A)
0

^981,043
a420,000 a561,043 a561,043

c +gltel
9l: d

-----_._-+ Eqltq+ ----..-
7l€ qlto4 E€ qttlo{ 1. 7tOE Hl z

EJ 4I 5,657,653 4,256,610 a1,401,043

dE+ 1,000,000 0
^1,000,000u zf

qq+ fl+El+ 2,990,000 2,570,000 a420,000

olzl+oJ 1,667,653 1,686,610 18,957

(E9l:dfl

+ IIEqttq+ 7l€ qlto{ E? qtt.{ z7toEl Hl -a.

EJ 4I 5,657,653 4,256,6't0 a1,401,043

HlE1l€^tgHl 2,990,000 2,570,000 a420,000

tzt€^lgHl
qt q+ 2,667,653 1,686,610

^981,043
7lE+zl+



n 
^lgtllec 71 7J | 2020. 1. 1. - 12. 31.

O + s : 1,500q8(8U71 1,200q/6FJ7l 300q)

o rfl I : Srll €.d7lg .j ^fol4 
7lg.=5r:"J

O alfl'JE : E"J3"t9 zl*oe- q=6fr olzfifo+(l.5-1.8%) H1

T trIE EE^19
> 7l++E4le Ee

o 7lE+e.141t"tl,* : (u€) Ofl - pE) 1,m0,m43 = 
^1,0m,m0d?

-"JLf^l eLTlZ&E7l+ €zl'l$taql "J+7ll€oe 7l+r.€ +Eo4g 
^+41

6tr fl+ ^ltE 71E.6rz1 6ls.otre "JHJElzl +H u rJE +1611 d"J+ 
^+e

O ql+=- ?+el+ : (e€) 2,570,000d8 - ?14) 2,ee0,00048 = n420,0001fl

-olzfil-o+ _E_t 
^fgHl 1.?LFo+ 4rJQ020. 108trJ 0l-zlE al+)ql qe qlq+

fl+el+ +"J +rJ
C olzl+"J : (7d€) 1,685,610A8 - (71€) 1,661,6534? = 18,957?l?

-olll-+E ql8"+ EE. €-ql q-c ol7,l-+E 
=,o+

> 7l+71=4q Ee
C Hltzl€^lgul : (rj€) 2,570,00048 - ?|fj 2,ee0,000t? = 4420,000?j?

--i.-+.+19 trl6ll7l? +lilE gl=Lf 2if4l9 ,Ja zlfl E 2020LJ 86lHJ7l 1,500q

Erlql rfE olTlilo+ Hte 1l+;o+ to+ 42J(2020. 10etrJ 0r7lE 1l;.)

C qlqh* : (rj€) 1,686,610d8 - ?|fj 2,667,65377 = 4e81,043t?

-7lE+cl4ld?+ +"J aAql rf= EE"J qlq+ ,J"4
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<E9l+>
2020g.E llll 1 r] 

=elg|!'+d7 
l= Etll=J E!3 (91)

r rtEgg
c -ltegtE8

t9l: t
2019LJEtrJ 

='€o{(7tt

20201J5. eA4q 2O2OLJEH
a€o4

(Et)=(71)+(et)+E(L+) zl+(E+) =7tOE
(4) = (4F(Q)

7l€(A) 1,639,118 654,071 1,465,080 
^81 

1,009 828,109

E?(B) 1,639,118 | 6s4,816 684,080
^29,264

1,609,8s4

=rJ(B_A)
745

^781,000
781,745 78't,745

x ioJ : doJe H5* E dE4ee el+otl^1 +"JEl: 3q(qlilB dl+ "l qlE++g3al+ 
^ileDx rlE : €E4oe 9+e ^l=El= *o+(qltle "l qlE+e 

^llel)

o +gltcl

c n|gTel

9l: d
+ tlE

ql+1rl+ 7l€ qltlo4 Ee qttlo{ =7toEl HI .I.

at 4l 211qlq1 1,338,896 a780,255

{"J+ 600,000 550,000 a50,000 oaeLfle ril8 rllg olEl dge ^le
rJ z3 45,000 45,000 OgfrE€Hl rlg^l-g(EHl)

qlq+ E+El+ 1,465,080 684,080 a781,000 OrJETHd^lg t, BrE€Hl llg^fg 1

olzl+"J 24,071 29,816 5,745

7lE++oJ 30,000 r 30,000

ot.Tt.

+ liir
ql+t4+ 7l€ qltP4 EU ql$o{ z7tOE Hl .a.

EJ 4I 2,119,151 1,338,896 a780,255

Hlt4€^lgHl 1,465,080 684,080 a781,000 OZEJTlld^lg l, E|nE€Hl Ilfl^lg t

tat€^lgHl
qt q+ 654,071 6s4,816 745 OEgB 1, E.aB t, ol&+oJ t

7lE+ali+
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r ^lgileo Ell+E 'Jottrl4 t$7lld^lg
- ^rg+4: HB 'JE= "Jg E4 + zlq+€E aal5J qTPJ tE-oE

tl+ €zl6|Q E^lBl3- 7ll{ "l zlqz4l $€et
- ^l?+t: ttfl+ tll++$ 1847-20 - 1848-128(1=qz00m, oJ{)
- ^fgttlS: 577llL, 118711 7JV x.+oJEelE 37%tr 

^tE+1! E7t
- 

^fg717Ji 
12711?

- 
^f 

g Hl : 826,000A?(1 1B7llx7,000A?)

o 20201J guE€Hl 7{fl^tg(EHl)
- 

^l-g+4: 
:"J+E ll$4lLlt{| €il "l BrE +4-'Jzl E-e 

^l=- E-

BZE €HlE 5"J nll4pJ €g+Z r€
- 

^fg7l7Jt 2711?

- ^f 
g Hl: 45,0004?

x TE EE^19
> 7l*+E4lq Ee
Od E +: (A€)s50,000d9 -(71€)600,000d9 = ^s0,000d9- i.EL+19 rllS 

^l]g 
ulaJq q= .JuJpl4l cE+ +'J

c -H- -5, +: (a€)45,000dfl - (71€)0dE = 45,000d9
- *-r+€ts| ^lg^fg(Etsl)

O qq+ fl-'oli: (44684,080d9 - (71€)1,465,080d9 = 
^781,000d9_ rll+E "Joltrl4 ts7lld^lg €rt : ^826,000d9- rJr+€Bl ^lg^lg : 45,000d?

o olxli"J : (d{)2s,816d9 - (71€)24,071d9 = 5,745d9

> 7l+^l=414 Ee
o ul€-^td 

^lgtsl 
: (a€)684,080d9 - (71€)1,465,080d9 = 

^781,000r!g- ql+E "Jolqrl ,Jts7lld^tg €Lt : ^826,000d9- *nE€tsl ^l?^lg : 45,000d?
c ql q+ : (a€)6s4,816d9 - (71€)6s4,071d8 = 74sdg
- "JUslZl t.J+ Ate : 450,000d?
- *nE€Bl ^l?^tg sul sa+ 9lg : 45,000dfl
- qlq3 "l^l : 5,745dfl

r ggTE
o +qBzgaT'*?t4|4 Erd(?I) gql e"J "l q€ + ^ig+l Ez1



(Eig5)
2020tlE rll11rl E^l g +7{$adHlTl= eEllElEla(E)

N I|EE?I
c rteetEg

'J9l: d

2019LJEEJ 
=€o4(7ll

2020LJE et4q 2O2OLJs.EJ

4€o{
(of)=(zf)+(ef)+E(r+) al+(Et)

*7tOE
(4) = (r_t){ct)

7l€(A) 28,158,648 6,0s6,205 2,842,656 3,213,549 31,372,197

EE(B) 28,158,U8 737,826 2,845,003
^2,107,177

26,051,471

=e(B-A) ^5,318,379
2,347 a5,316,032 a5,316,032

x f9 : dge H^;5 dEqee el+ql^l +"JEl= eq(qltle al+ "l qlE++fl;iol+ rllel)

x xl€: dE4oe 9+E ^l=elts e'+(qlll3 "t qlE+3 rllel)

C ryg1|q

C +EITE
:i!--------._+ E

qt+lrt+ ------_ 7l€ qlto4 E€ qI{P4 =7tct El UI .I.

EJ 4I 8,898,861 3,s82,829 a 5,31 6,032

dE+ s,333,286
^5,333,286H Z.= 305,916 305,916

qqt fl+rl+ 2,842,6s6 2,845,003 2,347

ol4+E 417,003 417,OO3

TlEt+oJ 0 14,907 14,907

+ !l-.r
ql+lrt+ 7t€ qtttq Ee qltq z7toE! Hl a-

?t 4l 8,898,861 3,582,829 a 5,31 6,032

Hlt7,l€^tgHl 2,802,942 2,802,942

qt q+ 6,056,205 737,826 a 5,31 8,379

TlEtzl* 39,714 42,06'l 2,347

- 13 -



n ^lgr[9o 
^lg7l7J 

: 2020. 1. 1. - 2020. 12. 31.

c ^fgql,8' 
: "Jt]-^l -+L+l +q1fl2+ €Hl+q "J trlzl€E +q

o ^lgLflt 
: 7lE4q.€Hlzlq +H, "JtdE E.

r tr|E EE^19
> 7l++E4q EZ : zJ) 5,316,032A?

o t"J= : zJ) s,333,286d?

- oJUsl4l 1]lE ++q q= +"Jo+ 46
tZ€l 0? - 17l?'l5,333,28648 = 45,333,286?!?

oqlq*E#l+:a23477?
- EHlts=+ 

^ft{!o-| "l 
olzf HJ-+= : 2,347d?

t44l2,u5,0m4fl - VlHl2,u2,6564? = Zu74]
o 7l++"J : zJ 14,90747

- 2m0LJ _E3.^1fl Agtl.+ "j olzf : 14,9077?

l?341 14,90748 - t7l€l Ofl = 14,e07?jE

> 7l37l=4le HU : #) 5,316,0327?

O qlql= : #) 5,318,3791fl

- d"''+ r€ql Ef= qlq= AFA : 45,333,286fl?

- 2020L1-H5.^lg A"Jtr4 "j olzf : 14,9077?

t 41737,8264U - t7l€1 6,056,20s4? = 45,318,37e88

C 7lE+zl= : z) 2,3471V

- EUIE3+ 
^l€{!o+ "i 

olzf 'Jg-t : 2,34741

lr34l 42,061d8 - t7l€1 3e,714d2 = 2347lj7

r g9f,rE

o E^|.+71#448l7lE4lqo_e 4lq4E Tlla+€Hl^fg +u
c -t-+ E#+qel 4|z+ +Tlg.E +71-#23 7H{rt +trJ tJg I a=6f

-14-



(=96)
2020tj.= {tl 1il #AEd7t= Etlt4E!A(E)

N T|EES
c -ueetgg

'J9l: d

2019E5.oJ 3€q4
(7ll

20201J-E +t4q 2020LiE"J
3€E

(Et)=(7|.)+(?t)+oJ(L+) 1l.i*(E+)
z7tOE

(at) = (r-l)-(4)

7l€(A) 28,448,464 1,429,834 300,000 1,129,834 29,578,298

E€(B) 28,448,464 442,593 200,000 242,593 28,691,057

6A(B-A) ^9B7,241 ^ 
100,000

^BB7,241 ^881 
,241

x fE : dga H4+ 5 EE4oe el+oll^1 +"JEl: 
=sq(ql^l* 

ol+'l ql++gaal+ rlleD

x 
^15: dE4ee q+e 

^l=51:';E(qlrl+ "t qlE+3 lllel)

O +EITE

7l€ qlto{

^1,087,241
4f 1,729,834 1 642,593

0 
^ 
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